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1. Give the alignment matrix of the sequences `AATCGCGCGGT' and 
`ATGCGCCGT' assuming the following costs: Cost(a,a)=0; Cost(a,b)=3 
when a ¹ b, Cost(a,-)=Cost(-,a)=2. 

2. How would you set the function Cost in order to compute the longest 
subsequence common to x and y? 

3. Describe the differences between the algorithms for global and local 
alignments 

4. Which of the following reasons would lead you to use the Smith-Waterman
local alignment algorithm instead of the Needleman-Wunsch global 
alignment algorithm?

Select all appropriate answers.
(a) Computer memory is too limited to compute the optimal global alignment.
(b) One wants to identify common protein domains in the two sequences.
(c) The sequences have very different lengths.
(d) Smith-Waterman is faster than Needleman-Wunsch on long sequences.
5. Describe the notion of a parsimonious phylogeny for a finite set of 

sequences and the hypothesis assumed on them
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c)  Describe the additivity condition in phylogeny (the 
course content has changed)
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